

در \$w\$

در \$r\$

$$g'(w) = (Y \tan w (\tan^2 w + 1) - \sqrt{Y} \sin w) f'(\tan w + \sqrt{Y} \cos w) \quad (1)$$

$$\lim_{w \rightarrow \frac{\pi}{2}} g'(w) = \left(Y \lim_{w \rightarrow \frac{\pi}{2}} (\tan^2 w + 1) - \sqrt{Y} \lim_{w \rightarrow \frac{\pi}{2}} \sin w \right) f'(\lim_{w \rightarrow \frac{\pi}{2}} (\tan w + \sqrt{Y} \cos w)) = (Y - 1) f'(1) = f'(Y)$$

$$\Rightarrow f'(Y) = \sqrt{\frac{Y}{Y-1}}$$

$$f'(w) - Yg'(w) = (f - Yg)'(w), \quad f(w) = \frac{1 + \cos w}{1 - \cos w} = \frac{(\cos w + 1)(\cos w + 1)}{-(\cos w + 1)(\cos w - 1)} = \frac{\cos w - 1}{Y - \cos w}$$

$$(f - Yg)(w) = \frac{\cos w - 1 - Y \cos w + Y}{Y - \cos w} = \frac{Y - \cos w}{Y - \cos w} = 1$$

$$\Rightarrow (f - Yg)'(w) = 0 \Rightarrow (f - Yg)'(w) = \sin w \Rightarrow (f - Yg)\left(\frac{\pi}{2}\right) = \sin \frac{\pi}{2} = 1$$

$$f(w) = \begin{cases} (f_n - 1) \tan w; & w \geq \frac{\pi}{2} \\ (f_n - 1) \tan w; & w < \frac{\pi}{2} \end{cases} \Rightarrow f'(w) = \begin{cases} (f_n - 1) \sec^2 w; & w \geq \frac{\pi}{2} \\ (f_n - 1) \sec^2 w; & w < \frac{\pi}{2} \end{cases}$$

$$f'_+\left(\frac{\pi}{2}\right) = f \sqrt{a} + 0, \quad f'_-\left(\frac{\pi}{2}\right) = -f \sqrt{a} + 0 \Rightarrow |f'_+\left(\frac{\pi}{2}\right) - f'_-\left(\frac{\pi}{2}\right)| = |f \sqrt{a} - (-f \sqrt{a})|$$

$$\Rightarrow |f'_+\left(\frac{\pi}{2}\right) - f'_-\left(\frac{\pi}{2}\right)| = |2f \sqrt{a}| = 2f \sqrt{a} = \sqrt{Y} \Rightarrow \sqrt{a} = \frac{\sqrt{Y}}{2} \Rightarrow a = \frac{Y}{4}$$

$$y = -ax + Y \rightarrow \text{شیب} = -a, \text{ نقطه } (0, Y) = -fa + Y = Y - fa$$

$$(f, Y - fa)$$

$$\Rightarrow f'(f) = a, \quad f(f) = Y - fa \Rightarrow f(f) + f'(f) = -1 \Rightarrow Y - fa + a = -1$$

$$\Rightarrow a = \frac{Y}{2} \Rightarrow a = \frac{Y}{2} \Rightarrow f'(f) = -\frac{Y}{2}$$

$$\frac{n+1}{Y} = \frac{an-1}{Yn+1} \Rightarrow Yn^2 + Yn + 1 = Yn^2 + (1-Ya)n + 1 \Rightarrow (1-Ya)n + 1 = 0$$

$$\Rightarrow Yn^2 + (1-Ya)n + 1 = 0 \Rightarrow (n+1)^2 = 0 \Rightarrow n = -1 \text{ و } (n-1)^2 = 0 \Rightarrow n = 1$$

$$\Rightarrow \frac{1-Ya}{Y} = -1 \Rightarrow 1-Ya = -Y \Rightarrow Ya = Y+1 \Rightarrow a = \frac{Y+1}{Y}$$

~~$f(x) = \frac{\sqrt{x}-1}{\sqrt{x}+1} \Rightarrow f^{-1}(x) = \frac{\sqrt{x}-1}{\sqrt{x}+1}$~~ ~~است و اگر $x=0$ باشد $y = \frac{0-1}{0+1} = -1$~~ ~~و این در حد نیست تا به مرکز تبدیل شود~~ ~~(ن)~~

$t(n) = t'(n) = g(\sqrt{n}) \rightarrow t'(n) = \frac{1}{\sqrt{n}} g'(\sqrt{n})$
 $g'(n) = \frac{-1-1}{(n-1)^2} = -\frac{2}{(n-1)^2} \rightarrow g'(\sqrt{n}) = -\frac{2}{(\sqrt{n}-1)^2}$
 $t'(n) = \frac{1}{\sqrt{n}} \cdot -\frac{2}{(\sqrt{n}-1)^2} = -\frac{2}{\sqrt{n}(\sqrt{n}-1)^2}$

$$f'(y) = -\frac{1}{\sqrt{y}(\sqrt{y}-1)^2} = -\frac{1}{\sqrt{y}(y-\sqrt{y})} = \boxed{-\frac{1}{y-2\sqrt{y}}}$$

$$f(x) = f(n) = \sum_{k=0}^{n-1} C_k x^k \Rightarrow f(n) + f(n) = \sum_{k=0}^{n-1} C_k x^k + \sum_{k=0}^{n-1} C_k x^k$$

$$= \lim_{x \rightarrow 0} \frac{f(x) x^{n-1}}{\left(\frac{1}{x}\right)^m x^m} = \lim_{x \rightarrow 0} f(x) x^{n-1} \cdot x^m = \lim_{x \rightarrow 0} f(x) x^{n-1+m}$$

چون حاصل حد نه صفر و نه بی نهایت است پس باید مرتبه نامعین را کم کنیم تا به صورت $\frac{0}{0}$ یا $\frac{\infty}{\infty}$ برسیم.

$$\Rightarrow f_{n-1} = x^m \Rightarrow m = n - \frac{1}{p}$$

$\rightarrow P_n = P_{n-1} \cdot \sqrt{r} \Rightarrow n = \sqrt{r}, P_n - 1 = P_{n-1} \Rightarrow \sqrt{r} - 1 = P_{n-1} \Rightarrow \sqrt{r} - 1 = P_m \Rightarrow \sqrt{r} - 1 = P_m$
 $m - n = (\sqrt{r} - 1) - (\sqrt{r}) = -1$

$$c. \frac{P_{n+1}^m x^{m-1}}{x^m} = P_{n+1}^m = \mu \sqrt{P} \Rightarrow n x \sqrt{P} = 1 \sqrt{P} \Rightarrow n x \sqrt{P}^{\frac{n-1}{2}} = \mu \sqrt{P} \Rightarrow n = \mu \Rightarrow \mu = 1 \Rightarrow \mu_{n+1} = 1 \Rightarrow \mu = 1.$$

$$f(a) = 1, f(-1) = 1 - 1a \Rightarrow \frac{f(a) - f(-1)}{a - (-1)} = \frac{f(a) - f(-1)}{a - (-1)} = f(a) - f(-1) = 1 + 1a - 1 = 1 \quad (9)$$

$$\Rightarrow a = -\frac{1}{r} \rightarrow f(n) = (n^r + 1)^r \left(-\frac{1}{r}n + 1\right) \rightarrow f(n) = r(n^r + 1)^r (rn) \left(-\frac{1}{r}n + 1\right) + \left(\frac{1}{r}\right)(n^r + 1) \rightarrow$$

$$\rightarrow n = -r a = 1 \rightarrow f'(1) = r \times r^r \times r \times \frac{1}{r} - \frac{1}{r} \times r^r = 1r - f = \boxed{\Delta}$$

$$f(x) = \sin x \cos 2x \Rightarrow f\left(\frac{\pi}{4}\right) = 0, f\left(\frac{\pi}{2}\right) = -1 \Rightarrow \text{المشتق} = \frac{f\left(\frac{\pi}{2}\right) - f\left(\frac{\pi}{4}\right)}{\frac{\pi}{2} - \frac{\pi}{4}} = \frac{-1 - 0}{\frac{\pi}{4}} = -\frac{4}{\pi} \quad (10)$$

$$g(x) = \sin^2 x - \cos^2 x = (\sin^2 x + \cos^2 x)(\sin^2 x - \cos^2 x) = -\cos^2 x \Rightarrow g\left(\frac{\pi}{4}\right) = 1, g\left(\frac{\pi}{2}\right) = 0$$

$$\text{المشتق} = \frac{g\left(\frac{\pi}{4}\right) - g\left(\frac{\pi}{2}\right)}{\frac{\pi}{4} - \frac{\pi}{2}} = \frac{1 - 0}{-\frac{\pi}{4}} = -\frac{4}{\pi} \Rightarrow \frac{f\left(\frac{\pi}{2}\right) - f\left(\frac{\pi}{4}\right)}{g\left(\frac{\pi}{2}\right) - g\left(\frac{\pi}{4}\right)} = \frac{-\frac{4}{\pi}}{-\frac{4}{\pi}} = 1$$

$$y = \frac{\sqrt{n+1}}{\sqrt{n-1}} \Rightarrow y\sqrt{n-1} = \sqrt{n+1} \Rightarrow (y-1)\sqrt{n} = y+1 \Rightarrow \sqrt{n} = \frac{y+1}{y-1} \Rightarrow n = \left(\frac{y+1}{y-1}\right)^2 \quad (11)$$

$$\Rightarrow f^{-1}(n) = \left(\frac{n+1}{n-1}\right)^2 \Rightarrow (f^{-1})'(n) = 2\left(\frac{n+1}{n-1}\right)\left(\frac{-2}{(n-1)^2}\right) \Rightarrow (f^{-1})'(y) = 2\left(\frac{y}{1}\right)\left(\frac{-2}{y^2}\right) = -\frac{4}{y} \quad (12)$$